CHEM 101B - Balancing Redox Reactions in Acidic or Basic Solution

1. Balance the following oxidation-reduction reaction that occurs in acidic solution:
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2. Balance the following oxidation-reduction reaction that occurs in basic solution:

Mn2+(aq) + NaBiOs(s) — MnO, (aq) + Bi3+(aq) )
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3. Balance the following oxidation-reduction reaction that occurs ilution:

Al(s) + MnO4 (ag) — MnO2(s) + AI(OH), (aq)
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4. Balance the following oxidation-reduction reaction that occurs in acidic solution:

As203(s) + NO3 (aq) — HzAsO4(aq) + NO(g)
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